
Metriek stelsel
 
 
Lengtematen:
 
km              hm             dam           m                dm             cm              mm

            X 10                      x 10                   x 10                    x 10                   x 10                   x 10

 
 
                                                                           
Oppervlaktematen:
 
             x 100               x 100                x 100                 x 100                  x 100                 x 100

 km2            hm2            dam2          m2              dm2            cm2            mm2 

                  ↓          ↓        ↓      

ha              are             ca

 
                             X 100                x 100

 
  
Inhoudsmaten: 
             x 1000               x 1000              x 1000             x 1000                 x 1000                x 1000

 

km3            hm3            dam3          m3              dm3            cm3            mm3 

                  
 

                       X 1000                                                x 1000

m3                                 dm3                              cm3

↓                                     ↓                                   ↓
                                        
            
kl          hl        dal         liter       dl          cl        ml

        X 10          x 10          x 10             x 10           x 10           x 10    

  

Gewichten:
 
kg               hg              dag            g                 dg              cg               mg

           x 10                        x 10                    x 10                   x 10                   x 10                  x 10
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Metriek stelsel

 
Afstand: lengte
 

km hm dam M dm cm mm

: 10                                         x 10
 

1 km = 10 hm
1 hm = 10 dam
1 dam = 10 m
1 m = 10 dm
1 dm = 10 cm
1 cm = 10 mm

1 km = 100 dam
1 hm = 100 m
1 dam = 100 dm
1 m = 100 cm
1 dm = 100 mm
 

1 km = 1000 m
1 hm = 1000 dm
1 dam = 1000 cm
1 m = 1000 mm

1 km = 10.000 dm
1 hm = 10.000 cm
1 dam = 10.000 mm

1 km = 100.000 cm
1 hm = 100.000 mm

1 km = 1000.000 mm

 
 
 
Oppervlakte: lengte x breedte
 

km2 hm2 dam2 m2 dm2 cm2 mm2

 

: 100                                         x 100
 
1 km2  = 100 hm2

1 hm2 = 100 dam2

1 dam2 = 100 m2

1 m2 = 100 dm2

1 dm2 = 100 cm2

1 cm2 = 100 mm2

1 km2  = 10.000 dam2

1 hm2 = 10.000 m2

1 dam2 = 10.000 dm2

1 m2 = 10.000 cm2

1 dm2 = 10.000 mm2

 

1 km2  = 1000.000 m2

1 hm2 = 1000.000 dm2

1 dam2 = 1000.000 cm2

1 m2 = 1000.000 mm2

 

1 km2  = 100.000.000 dm2

1 hm2 = 100.000.000 cm2

1 dam2 = 100.000.000 mm2

 

 
 
 
Inhoud: lengte x breedte x hoogte
 

km3 hm3 dam3 m3 dm3 cm3 mm3

 

: 1000                                         x 1000
 
1 km3 = 1000 hm3

1 hm3 = 1000 dam3

1 dam3 = 1000 m3

1 m3 = 1000 dm3

1 dm3 = 1000 cm3

1 cm3 = 1000 mm3

1 km3 = 1000.000 dam3

1 hm3 = 1000.000 m3

1 dam3 = 1000.000 dm3

1 m3 = 1000.000 cm3

1 dm3 = 1000.000 mm3

 

1 km3 = 1000.000.000 m3

1 hm3 = 1000.000.000 dm3

1 dam3 = 1000.000.000 cm3

1 m3 = 1000.000.000 mm3

 

 
 
 
Inhoud 
 

kL hL daL L dL cL mL
 

: 10                                         x 10
 
 
 
1 L = 10 dL
1 dL = 10 cL
1 cL = 10 mL

1 L = 100 cL
1 dL = 100 mL

 1 L = 1 dm3

1 mL = 1 cm3
 1 kL = 1 m3

1 mL = 1 cm3  (1 cc)
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